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Answers
15. 1914
16. 64
17. 6
18. 96
19. 0.984
20. 36
21. 13,348
22. 174.5
23. 25.04
24. 131
25. 1/6
26. 6
27. 14/15
28. 1/12
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1. 2.3litres, 4370ml, 9200ml, 0.78litres
2. 
3. [image: ]
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4. 0,25kg               3.9m                   2600ml
460g                  560cm                0.35litres
1.24kg               9.8m                   800ml
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Answers
1. 539
2. 398
3. 0
4. 162
5. 1357
6. 21
7. 1023
8. 1233
9. 121
10. 0.36
11. 360
12. 10
13. 15,295
14. 2157
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2. Drop the decimal down to the bottom. 

   3.45
X 6
     .

Then continue with your usual multiplication. 








1)  6.8 x 4
2) 5.4 x 7
3) 38.28 x 3
4) 45.74 x 6

5) Tickets for a show cost £23.67. How much do seven tickets cost?

6) The booking fee for each ticket is £2.75. What is the total price for all seven tickets including the booking fee? 

7) Steven manages to save £543.53 every year. How much does Steven manage to save over six years?
8) Karen bought five cans of food for £1.99 each, and seven cans of food for £1.28 each. What was the total?

9) Jim bought eight cans of each of three different kinds of cat food. One kind cost £1.25, the second kind cost £1.64, and the third kind cost £0.79. What was the total cost?

10) Jerry bought five boxes of nails for £4.58 and seven boxes of screws for £2.83. What was his change from £100?



Answers
1. 27.1
2. 37.8
3. 114.84
4. 274.44
5. £165.69
6. £184.94
7. £32.61
8. £18.91
9. £92.59
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Answers
15. 37.5
16. 120
17. 12/18
18. 503.6
19. 14
20. 32.49
21.34800
22. 3.5
23. 1/16
24. 96,454
25. 235
26. 13/20
27 14/8 or 1 and 6/8
28. 12/20





Algebra
Remember!!
A letter is like a ? 
If a letter is next to a number, it means multiply
3a = 3 x ? 

3a+ 4 = 10     really means 3 x ? + 4 = 10
Begin with the inverse
10 – 4 = 6
6 ÷ 3 = 2 
Therefore, a = 2
Check! Substitute it back into the equation
3x2 + 4 = 10 						6 + 4 = 10
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Answers
1. A = 4
B = 6
C = 9
D = 4
H = 4
I = 2
J = 3
K = 5

Triangle = 7
Pentagon = 11
Diamond = 3
Square = 14


2.  C  = 38 amd 54
	Term
	Calculation
	Value

	1st
	5 x 1 + 1
	6

	5th
	5 x 5 + 1
	26

	10th
	5 x 10 + 1
	51

	20th
	5 x 20 + 1
	101



3. £60

Day 4
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Answers

1. 384
2. 258
3. 4
4. 5598
5. 0
6. 12221
7. 315
8. 835
9. 120
10. 3
11. 7619
12. 6
13. 5/15
14. 963r3
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Answers
1. 5
2. 7
3. 53
4. 10
5. 2
6. 24
7. 30
8. 18
9. 164
10. 7
11. 3
12. 3
13. 12
14. 3
15. 5
Missing numbers
1. 12
2. 4
3. 9
4. 7
5. 5
6. 4
7. 15
8. 44
9. 42
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Answers

15. 9.831
16. 4536
17. 107.4
18. 9
19. 190
20. 4 and 2/5
21. 30/50
22. 3.2
23. 4/20
24. 56
25. 5
26. 235 r 5
27. 7/12
28. 1/9
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Answers

Equilateral triangle – All sides of equal length and all interior angles are 60 degrees.
Rectangle – Has two pairs of parallel lines which are equal in length. All interior angles are right angles (90) 
Square – All sides are equal length and all interior angles are right angles (90)
Circle – A circle has no interior angles and has one curved side.
Octagon – Has 8 equal sides and all interior angles are 135 degrees.
Decagon – Has 10 equal sides in length and each interior angle is 144 degreee.
Pentagon – Has 5 equal sides in length and each interior angle is 108 degrees.
Right-angled triangle – On angle is 90 degrees. Two sides are of equal length and the other two angles are also equal in size.

Square based pyramid
Edges = 8
Faces/Surfaces = 5 
Vertices = 5

Cube
Edges = 12
Faces/Surfaces = 6
Vertices = 8
Cuboid
Edges = 12
Faces/Surfaces = 6 
Vertices = 8

Cone
Edges = 1
Faces/Surfaces = 2 
Vertices = 1

Cylinder
Edges = 2
Faces/Surfaces = 3 
Vertices =  0
Sphere
Edges = 0
Faces/Surfaces = 1 
Vertices = 0
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1. Complete this table. The first one has been done for you.

Millilitres (ml) Litres (1)
650 0.65
2300

437

9.2
780

2. Draw lines to match these measurements. One has been done for you.

170cm 800cm
40cm 2.5m
8m 1700cm
250cm 04m
4m 17m
400cm

or > to complete the following sentences:

84kg 1100g Tkg 7259
660g 37kg 379 2890g

4. Complete the number sentences below:

250g = kg 390cm = m 260 =

Ou4kg= g 5.6m = cm 350ml =

1240g= kg 980cm = m 0.8l -

7.25kg
2.89%kg

ml
L

ml
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2. Draw lines to match these measurements. One has been done for you.

170cm 800cm
40cm 5m.
8m 1700cm
250cm 4m
4m 17m

17m 400cm
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3. Use <, = or > to complete the following sentences:
8400g [ =] 84kg 1100g Tkg 7255 [Z] 7.25kg
6.6k [S]6609 37y [S] 3799 28909 [=] 2.8%g
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1. Use simple formulae,

@) Calculate the value of the letter in each equation:

3a=12 a=
30=5b b=
8c=72 c=
48 =12d d=

b) Calculate the value of the letter in each equation:

20 =4h+4 h=
3i45=11 i=
14 =b6j4 j=
%-5=5 k=

) In these equations, a is worth 7. Calculate the value of each shape:

A=3u
4+u=O Q
=100 &

a+a= =

>
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) Find the missing numbers in this sequence:

d) The formula 5n + 1 can be used to calculate the value of the terms in this sequence:

6 n 16 21 26

Fill in the missing information in this table:

term calculation value
st S5x1+1 | 6
Sth |

10th | 51
20th 5x20+1 |
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d) A builder needs to calculate the area of a bathroom floor, to work out how much it will
cost to tile it. Tiles cost £5 per square metre, plus £10 for delivery. He uses this formula:

5a+ 10

a stands for area of the floor (in square metres).

Calculate the cost of tiling a floor, where the area is 10 square metres:
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Order of Operations

'B |Brackets 10 % (4 +2) =10 x 6 = 60

M| Multiplication
A Addition
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Brackets

Calculate anything in brackets first.

10 X (4+2) =10 X 6 =60 not 10 X (4 +2) = 40 + 2 = 42
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Order / Indices

This relates to powers or roots of numbers
(squared, cubed etc.). Calculate powers or roots before
multiplication/division/addition/subtraction.

5+22=5+4=9 not 5+22=72=49
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Division and Multiplication

Division and multiplication come before addition and subtraction.

10+6+-2=10+3=13 not 10+6 ~2=16 +-2=38

10-4x2=10-8=2 not 10-4x2=6x2=12
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1 (12+8) b= 6 (21-9)x2= n(8+13)+7=
7.8x3+6= [ ] 12 25-1x2=
3 (8+9)+62= 8 3x(15-9)= B (Eem)+5=
4oaxe-w= [ ) 9 e-@5+12)=[ | 14 9+00-7)=
5. 18:(4+5)=[ ] 10 (be2+5=[ ] 15 26-3x7=

Complete these calculations by filling in the missing number.

|.4x[j-25=za 4. (5»9);3 7_[:]47_2):3

2. (26-10)+( J=4 5 9x(2-( ))=63 8 s+ (e6-( ])=86

3.60=5x(3+D) 6. 1.5=(5»j)-5 9.6=D;(||—lo)
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Triangles have 3 sides
and 3 vertices.

The total of the angles
in a triangle is 180°.

An equilateral
triangle is a
regular polygon.
It has sides of
equal length
and each angle
is 60°

A scalene triangle
has no equal sides
or angles.

An isosceles
triangle has two
sides of equal
length and two
angles of equal size.

This is a right-
angled triangle
as one of its
angles is 90°

It is also scalene

This is a right-
angled triangle
as one of its

angles is 90°. It
is also isosceles
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A square has four
sides of equal length

and four right angles Key Vocabulary
(90°). A square is Regular - A polygon that has all sides and angles equal.
also a rectangle, Parallel - Lines that always stay the same distance

a rhombus and a

ot apart and never meet.
parallelogram!

Adjacent — Angles or sides that are next to each other.

A rectangle has two B v s s A trapezium

pairs of parallel, four sides of only has one

Gl s e ey gl bt @il pair of

T Sy opposite equal et

rectangle is also a @iglizs parallel sides
arallelogram! A rhombus is also

& a parallelogram!

A parallelogram This is an isosceles

has two pairs of trapezium as it A kite has two pairs
parallel, equal has two sides of of adjacent equal
sides and equal length and. sides and one pair of
opposite equal two pairs of equal opposite equal
angles angles. angles.
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What are the properties of an equilateral triangle?

What are the properties of a square?

What are the properties of a circle?

|:| What are the properties of a rectangle?
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OO0

What are the properties of an octagon?

What are the properties of a decagon?

What are the properties of a pentagon?

What are the properties of a right-angled triangle?
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edges edges
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sphere

edges edges
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vertices vertices
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Measurement conversions
Capacity
1 litre = 1000 millilitres

1 centilitre = 10 millilitres

of!l]

cl
ml
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Measurement conversions

Length

1 kilometre = 1000 metres km

1 metre = 100 centimetres
m

1 centimetre = 10 millimetres

i
mm
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Weight
1 tonne = 1000 kilograms
1 kilogram = 1000 grams

1 gram = 1000 milligrams




